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COMPUTER COMMUNICATION

i g dA ) [Aftrenaa 3 : 70
Time allowed : Three Hours] [Maximum Marks : 70

e () THHIE A E, 97 5 @ fg vie & IR e |
Note : Question No. 1 is compulsory, answer any FIVE questions from the remaining.
(i) TR Yo & G 9T i FHAR T AT § Hford |
Solve all parts of a question consecutively together.
(iii) ¥ e B 79 98 8 IRE] Fford |
Start each question on fresh page.
(iv) 2T STTaT 7 S g 1 Rt A S 3gare 8 AT 8 |
: Only English version is valid in case of difference in both the languages.

1. () g EERE SW a1 e Fafir= e wreat w6 A faRe |

Write names of different guided media used for computer communication.

(i) 3SR . B 379 e € 7§ |

State, what do you understand by ISDN.

(iil) PR Yead § Heper & ST 1 A € 7

What do you meant by congestion in computer networks ?
(iv) FFR R § TR FRNAE R ?

What do you meant by framing in computer communication ?
(v) el @ euh idrmicw w1 A ffid |

Write names of any two network protocols. (2x5)

2. () VIR EER ) SR e |

Explain the need of computer communication.

(i) ET (wer) qun s (fefes) 12T = i el I |
Compare analog and digital data transmission. (6x2)

(1 0f2) P.T.O.
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() womdfen fig Mdewia Ht wwe |
Explain sliding window protocol.
(i) € ALOHA W& @id ALOHA aehte ! afem Jwsisd |
Explain Pure ALOHA and Slotted ALOHA technique along with diagrams. (6x2)

() AT v Sy gt s fay (mﬁt«:mﬁwﬁﬁm)aﬁmsnsﬁ |
Explain shortest path algorithm used in routing.

(i) TOTES (F9) FNEA 8 7 fopeam & wwEsd |

What are concentrators (HUB) ? Explain in detail. (6x2)
L R R wefia aieet % afE aeE |

Explain ISO-OSI reference model along with diagram. (6)
iy A, /g, wieat w1 WA Y T T .. — 3.,

Tefifa nieet & gorT HId |

Explain TCP/IP model along with diagram and compare it with ISO-OSI

reference model. (3+3)

G) e (afww) fafm, @ () feafem, gfeie () Feafem i gan ik |
Compare circuit switching, message switching, packet switching.

(i) e (ST e o) 1 BRI FHTE |
Explain working of internet. (6x2)

@ Wﬂaﬁmﬁﬁmmmwﬁaﬂmm@ |
Classify and explain computer networks on geographical basis.
(i) T e S R 7 A |
What is ‘Cyclic Redundancy check’ ? Explain. (6x2)

a3 A Rl @ W di feoaforr e -
Write short notes on any twe of the following :

() oo E T (I T FIATI)

Bridges and Routers

(i) =g
HDLC
(iii) wieH -
. MODEM (6x2)




